Topic: Alpha-numeric series
Time: 10min

Directions (1-5): A= =&t it eamq@s Iied a97 A= {0 0 7 & 3¢ &I

N47TUJK3%F@OLN5P18USE2DC6#9ZQ8Y+xMA

Q1. fwrforfea & & i9-H7 Tea, < AT AT F 910 YT T Teagd acd & 970 F o €1
T g?

(a) 2

(b) #

() %

(d)s

(e) W@Fﬁﬁ
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(a) T

(b) 1< 72T

(c) =

(d) =t

(e)=TX
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Q3. 3T T =eedT H UH fhae st g e Ste are U avf g, S S1e qael U 9T Tal
g?
(@) T®

(b) &=

(c) € T2
(d)=r
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Q4. Tfx &F T =HawAT ¥ ¥ gY "earstt v ga1 foar Srar g, a1 Feferfea § & s-ar 9
TMC G F I7=9 T T T2

(@Q

(b)T

(c)*

(d) #

(e) =¥ & F7E T
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Q5. [Merferfad o= & F1T ¥ T2 AT & A& 9 UF 3T €7 § 6419 ¢ 32 3890
U T T (FHT Fd g I1FTT D10 o6 A 3T T4 o TFiad dal 87

(a) DC6

(b) @©L

(c) 92Q

(d) 5P1

(e) #MP
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Directions (6-10): THHTTI

I ST
3125472845719652414582439769423

Q6. MHTId & | HIF-AT 3(F, TM0 FIT H TGS 3(h & 910 H S TITF I gRIT?
(a)6

(b) 9

(c)5

(d) 2
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T EEAT T LATLES AT hiford e Ao QU T 307

Q7. ¥ T H@aT § UH fohaw 2 8,15 913 6 ¥ &7 UF H&aT 872
(@) TF

(b) g &

(c) =

(d) =T

(e) = 7 srferw
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Q8. 90 X § Ii=e, ATad A€ T84 3(eh HT AN ohaaT gir?
(a) 13

(b) 10

()11

(d) 15
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Q9. T & T2 @ H & AT IUT a1 3tk Hahrer {30 S0, a7 910 YT F TS 3F 6 a0 F
qi=ET 375 H -7 g2

(@) 5

(b) 2

(c)8

(d)1

(e) TH & FIs Aal
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Q10. 1 TS s & treft Py Fr o 2, Forersr 89 18 T ot o o 27
(@) T

(b) 1€ &

(c) i

(d) 7=

(e)&ra
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Directions (11-15): 1= faw 70 wox fRferfera auiaTeT 3w sish e« 9¢ g 2|
D5PKL8ZMCI60QUE1ITNR4GBA9FSW2HJV7YX3

Q11. IUIhH HaeAT H UH Foha« i g, foeeh 31 78 Ua T 82
(a) &1

(b) =T

() T=®

(d) =1

(e) FTE &
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Q12. 7T I HaedT & q3ft T2 &1 gar faar Srar g, v Fforfaa #§ & wia-a1 aui/sF
M0 ZIE T 5 5 Tea F 910 F 10 F 217 X 7

(@R

(b) 4

()G

(d)9
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Q13. MHfefad & & i |7 FUI/3(F 210 I T 13 o T 6 210 & qTad €1 9 57
(a)A

(b) 2

(0 H

(d) 9

(e) TTH & FIE 7L
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Q14. IULRE HAEAT § Tohaw UH 2w 8 e 31 Igel U o591 3fi¥ 31 T8 § U #a< 872
(a) =TT

(b) 1=

(@

(d) T

(e) #TE T
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Q15. <1 = EedT § fAwforfaa # & ®i9-97 acd 'B' 3l '2' % 31 He T H 82
(a)9

(b) F

(c)S

(W

(e) =75 & FIs Aol

L1Difficulty 2

QTagsAlphanumeric Series-Reasoning

QCreatorDheeraj Kumar Singh

Solutions

Solutions (1-5):



S1. Ans.(c)

S2. Ans.(e)
Sol. N47, K3%, C6#, P18

S3. Ans.(b)
Sol. USE, @OL, Y*M

S4. Ans.(a)

S5. Ans.(e)

Solutions (6-10):
S6. Ans(d)
Sol. The 16t element from the right end = ‘2.

S7. Ans(e)
Sol. There are four 2’s which are followed by number less than 6i.e. 2 5, 2 4, 2 4 and
2 3.

S8. Ans(c)
Sol. The fifth, seventh and tenth digit from the left end are ‘4,2 and 5'.
Hence, the sum is = (4+2+5)=11.

S9.Ans(b)
Sol. After removing all the perfect square digits‘325728 57 652 58237623
Then (6+5)= 11th digit from the left is ‘2.

S10.Ans(e)
Sol. There are seven odd digits which are followed by a perfect square number- ‘31,5 4,
71,19,14,39,94”

Solutions (11-15):
S11. Ans(c)
Sol. ‘6 O’

S12. Ans(b)
Sol. DSPKL8ZMC6Q1TNR4GB9FSW2HJV7YX3
10th +5th = 15t from right = 4

S13. Ans(e)
Sol. 13th -7th = 6th from right =]

S14. Ans(c)
Sol. ‘MCI',‘GBA’

S15. Ans(b)






